TABLE de DURBIN-WATSON : Test unilatéral der =0 contrer >0, au seuil de 5% (test bilatéral : seuil a = 10%

K=1 |K= k=3 K =4 kK=5 |kK=6 |k-= k=8 k=9 |K=10

n d. dy | do dy |do dy |d d, |d dy |do dy |do dy |do dy |d dy |do d,

15 1108 136| 09 154| 082 175 069 197 (05 221 045 247 | 034 273| 025 298 | 017 322 | 011 344
6 1110 137|098 154| 08 173 074 193 062 215 050 240 | 040 262 | 030 286 | 0,22 309 | 015 3,30
17 1113 138|102 154| 0% 171} 078 19 |067 210 055 232 | 045 254, 036 276 | 0,27 297 | 020 320
8 /116 139|105 153| 093 169 082 187 (071 206 | 060 226 | 050 246, 041 267 | 032 287 | 024 3,07
9 /118 140|108 153| 097 168 086 18 |075 202 065 221 | 046 240, 046 259 | 037 2,78 | 029 297

30..135 149128 157 121 165/ 114 174 107 1831100 193 | 093 203 085 214 | 078 225| 071 236

70158 1641155 167 152 170/ 149 174 146 177|143 180 | 140 184 137 187 | 134 191 130 195




